Attachment A

2012 Economic Census

Information; Professional, Scientific, and Technical Services; Management of Companies and Enterprises; Administrative and Support and Waste Management and Remediation Services; Educational Services; Health Care and Social Assistance; Arts, Entertainment, and Recreation; and Other Services (Except Public Administration) Sectors

Report Form Numbers, Titles, and Associated Burden Estimates for FY 2013

Information; Professional, Scientific, and Technical Services; Management of Companies and Enterprises;
Administrative and Support and Waste Management and Remediation Services; Educational Services; Health Care and Social Assistance; Arts, Entertainment, and Recreation; and Other Services (Except Public Administration)

		Estimated	Estimated	Estimated
Form		Hours Per	Number of	Annual
Number	Title	Response	Responses	Burden Hours
	All Report Forms		1,530,400	1,389,465
	Total Standard Report Forms		1,154,376	1,351,862
	Information Sector			
IN-51059	Data Processing, Hosting, and Related Services (Enterprise Support)	2.1	252	529
IN-51101	Newspaper Publishing	1.6	4,735	7,576
	Book Publishing	1.6	2,874	4,598
	Periodical Publishing	1.6	4,409	7,054
IN-51104	Greeting Card and Other Miscellaneous Publishing	1.6	977	1,563
IN-51105	Directory and Mailing List Publishing	1.6	1,602	2,563
	Software Publishing	1.1	4,184	,
IN-51202	Motion Picture and Video Exhibition	1.0	3,925	3,925
IN-51204	Motion Picture and Video Production and Distribution	0.8	2,997	2,398
IN-51205	Postproduction Services and Other Motion Picture and Video Industries	0.8	1,212	970
IN-51206	Record Production and Music Publishing	1.2	1,427	1,712
	Sound Recording Studios and Other Sound Recording Industries	1.2	1,975	2,370
IN-51250	Motion Picture and Video Production and Distribution (consolidated)	5.9	142	838
	Integrated Record Production and Distribution (consolidated)	5.9	6	35
IN-51501	Broadcasting Services	1.6	8,249	13,198
IN-51701	Cable and Other Program Distribution	1.6	5,418	8,669
IN-51702	Telecommunications	1.9	6,871	13,055
IN-51750	Telecommunications (consolidated)	7.4	428	3,167
IN-51751	Cable and Other Program Distribution (consolidated)	5.9	105	620
IN-51801	Data Processing, Hosting, and Related Services	1.1	7,316	8,048
IN-51901	Libraries and News Syndicates	1.1	3,438	3,782
IN-51902	Internet Publishing and Broadcasting	1.1	4,692	5,161
	Professional, Scientific, and Technical Services Sector			
PS-54059	Professional. Scientific, and Technical Services (Enterprise Support)	2.1	2,352	4,939
	Legal Services	2.0	35,783	71,566
	Accounting, Tax Preparation, Bookkeeping, and Payroll Services	1.1	33,117	36,429
	Architectural Services	1.3	7,179	9,333
	Surveying and Mapping Services	1.3	3,304	4,295
	Computer Systems Design and Related Services	1.1	38,478	42,326
	Advertising and Related Services	1.0	13,327	13,327
	Engineering Services	1.3	23,618	30,703
	Building Inspection Services	1.3	1,313	1,707
	Drafting Services	1.1	709	780
	Specialized Design Services	1.1	6,768	7,445
	Management Consulting Services	1.2	26,770	32,124
	Environmental Consulting and Other Scientific and Technical Consulting	1.2	9,048	10,858
	Testing Laboratories	1.2	3,335	4,002
	Scientific Research and Development Services	1.2	14,526	17,431
	Photography Services	1.1	9,060	9,966
PS-54121	Veterinary and Pet Care Services	1.1	15,588	17,147

Information; Professional, Scientific, and Technical Services; Management of Companies and Enterprises;
Administrative and Support and Waste Management and Remediation Services; Educational Services; Health Care and Social Assistance; Arts, Entertainment, and Recreation; and Other Services (Except Public Administration)

		Estimated	Estimated	Estimated
Form		Hours Per	Number of	Annual
Number	Title	Response	Responses	Burden Hours
	Management of Companies and Enterprises Sector			
		1.5		
	Holding Companies	1.5	19,898	29,847
MN-55102	Corporate, Subsidiary, and Regional Managing Offices	2.1	43,844	92,072
	Administrative and Support and Waste Management and Remediation Services			
	Administrative and Support and Waste Management and Support Services			
AS-56059	(Enterprise Support)	2.1	856	1,798
AS 56101	Employment Services	1.1	31,942	35,136
	Administrative and Other Support Services	0.9	22,926	20,633
	Travel Arrangement and Reservation Services	1.3	10,082	13,107
	Security and Investigative Services	1.0		
	Services to Buildings and Dwellings	1.0	11,064 39,244	11,064 43,168
	Office Administration and Facilities Support Services	1.1		
	Waste Collection, Treatment, and Disposal	1.1	13,847	15,232
		1.1	7,050 4,881	7,755 5,369
A3-30203	Remediation and Other Waste Management Services	1.1	4,001	3,309
	Educational Services Sector			
ED-61101	Educational Services	0.9	24,576	22,118
	Health Care and Social Assistance Sector			
HC-62104	Offices of Physicians and Other Health Practitioners	1.0	113,537	113,537
	Offices of Dentists	1.0	50,729	50,729
HC-62106	Home Health Care Services	1.0	14,350	14,350
HC-62107	Ambulance Services	1.0	2,752	2,752
HC-62108	Other Ambulatory Health Care Services	1.0	3,371	3,371
HC-62109	Outpatient Care Facilities	1.0	24,188	24,188
HC-62110	Medical and Diagnostic Laboratories	1.0	8,259	8,259
HC-62201	Hospitals	1.6	7,249	11,598
HC-62301	Nursing and Residential Care Facilities	1.2	54,320	65,184
	Services for the Elderly, Mentally Retarded, and Disabled	1.0	10,483	10,483
HC-62403	Service for Families and Individuals	1.0	14,094	14,094
HC-62404	Food, Shelter, Relief, and Job Training Services	1.0	13,154	13,154
HC-62405	Services for Children and Youth	1.0	5,046	5,046
HC-62406	Child Day Care Services	1.0	29,432	29,432
	Arts, Entertainment, and Recreation Sector			
AE-71102	Spectator Sports	0.9	4,189	3,770
	Promoters, Agents, and Managers	1.0	4,884	4,884
	Performing Arts Companies	1.0	7,931	7,931
	Independent Artists, Writers, and Performers	1.0	3,514	3,514
	Museums, Art Galleries, Botanical and Zoological Gardens	1.3	4,183	5,438
	Other Amusement and Recreation Industries	1.3	25,878	33,641
	Amusement Parks and Arcades	1.3	1,604	

Information; Professional, Scientific, and Technical Services; Management of Companies and Enterprises; Administrative and Support and Waste Management and Remediation Services; Educational Services; Health Care and Social Assistance; Arts, Entertainment, and Recreation; and Other Services (Except Public Administration)

		Estimated	Estimated	Estimated
Form		Hours Per	Number of	Annual
Number	Title	Response	Responses	Burden Hours
	Gambling Industries	1.3	2,467	3,207
	č		,	,
	Other Services (Except Public Administration) Sector			
	Repair, Laundry, and Other Selected Services (Enterprise Support)	2.1	848	1,781
	Motor Vehicle Repair and Maintenance	1.2	58,873	70,648
	Commercial, Industrial, and Electronic Equipment Repair and Maintenance S	1.0	12,018	12,018
	Personal and Household Goods Repair and Maintenance Services	1.0	7,151	7,151
	Personal Care Services	0.7	40,018	28,013
	Laundry Services	1.3	17,617	22,902
	Funeral Services, Cemeteries, and Crematories	1.0	10,795	10,795
	Parking Services	0.8	10,950	8,760
	Other Personal Services	0.8	4,530	3,624
	Grantmaking and Advocacy	1.0	12,554	12,554
OS-81302	Civic, Social, and Other Membership Organizations	1.1	21,286	23,415
	Total Classification Forms		376,024	37,602
	Information Sector			
IN-51190	Classification Form	0.1	1,302	130
	Classification Form	0.1	693	69
	Classification Form	0.1	1,368	137
	Professional, Scientific, and Technical Services Sector			
PS-54190	Classification Form	0.1	67,162	6,716
PS-54191	Classification Form	0.1	58,806	5,881
PS-54192	Classification Form	0.1	9,156	916
PS-54193	Classification Form	0.1	12,990	1,299
	Administrative and Support and Waste Management and			
	Remediation Services			
AS-56190	Classification Form	0.1	5,622	562
	Classification Form	0.1	9,237	924
	Classification Form	0.1	8,435	844
AS-56290	Classification Form	0.1	2,323	232
	Educational Services Sector			
ED 61100	Classification Form	0.1	10,049	1,005
D-01190	Classification Politi	0.1	10,049	1,003
	Health Care and Social Assistance Sector			
HC-62190	Classification Form	0.1	83,283	8,328
HC-62390	Classification Form	0.1	4,215	422
	Classification Form	0.1	9,789	979

Information; Professional, Scientific, and Technical Services; Management of Companies and Enterprises;
Administrative and Support and Waste Management and Remediation Services; Educational Services; Health Care and Social Assistance; Arts, Entertainment, and Recreation; and Other Services (Except Public Administration)

		Estimated	Estimated	Estimated
Form		Hours Per	Number of	Annual
Number	Title	Response	Responses	Burden Hours
	Arts, Entertainment, and Recreation Sector			
AE-71190	Classification Form	0.1	14,865	1,487
AE-71191	Classification Form	0.1	3,111	311
	Other Services (Except Public Administration) Sector			
OS-81190	Classification Form	0.1	27,317	2,732
OS-81191	Classification Form	0.1	10,172	1,017
OS-81290	Classification Form	0.1	23,867	2,387
OS-81390	Classification Form	0.1	12,262	1,226